Parts List .«..x:

B 1N FL 4

Model: LBC323UT-DX 15—V Zba—F 524481






HEaTROTHERIZDINT

1. EREDTEX DB

wiEs (BX) - BRES - BBHREW - MEZTHIEZEL,

INTEATIAG (X BI R D HiHE R E ZSRBZEL,

MamlEwnd THRILMIESSR ] Z23ERATIZEL,
AERRITEBRLIZLDEHYFET .
AERIBRDAFELGCEETHIIENHYFET

Fig. DRRIZTDNT

AFAMR=UIZ Fig XXBRBERTLTHYET . COXXKITAFTAIM—D
ELORHELBEZTERLET,

o a ks 0N

X

T 2R I eeeoeesesseessssessessseessesseseeeeeeeseeeeee e 1~2
Iy (AE320/184)
IRy M2 Ry el QRN Y2 3~6
R B 1V B 2N 7~8
R AV T /3 =% 5y A 9~ 10

LR D =17 TSSO 11 ~12



1. LBC323UT-DX

X K




RHEES | HaES B & 1 &% &
1-1 364688 | LBC323UT-DX 1
1-2 817002 | 6 h4H Wb (+)WSW 4 | M5X20
1-3 096042 | 6 H9H Wb (+)WSW 1 | M5X30
1-4 227454 | 939F—A934T 1 |5~9744
1-5 221474 | 959Fh—2A 1
1-6 016405 | ATYYY" 1 | #6200ZZ
1-7 013825 | C h'4ki7 1 | #30
1-8 227455 | 979FF FLVH 1
1-9 014210 | Ch'4kin 1 | S10
1-10 226792 | TUNIVY 1
1-11 239656 | K IYUN 4hUIbA 1
1-12 215532 | five4=%") 1
1-13 054691 | YUhTI 9347 1 [ 14794
1-14 089738 | 6 Ay ILb 1 | M5X15
1-15 228446 | nUNIWMNYTRTY )34T 1 |16 794
1-16 092561 | 6 hY& Wb (+)SW 6 | M5X25
1-17 228089 | ¥ ¥h—RY34T 1 [ 18 ~ 24744
1-18 234247 | 6 hOf Wb 1 | M8X8
1-19 092550 | 6 HYEK Lk (+)SW 1 | M5X25-7T
1-20 212986 | NE/KRA 1
1-21 219195 | nE/K'AB 1
1-22 215610 | 6 h4H Wb WSW 1 | M8X22 t47)
1-23 222128 | ¥¥IF R IUNY 1
1-24 222129 | 4YEVRY 1 | 5X20
1-25 089737 | 6 ol b 1 | M5X12
1-26 220549 | F194v-) 1
1-27 239672 | #—L7°L—b 1 | LBC323UT-DX
1-28 239693 | nJv—) 1 | ¥y
1-29 236357 | AUNIL A TR 1 | E%Y
1-30 236358 | nUNIL B ThA 1] 3%
1-31 236356 | MJA'LN=434T (19) 1 | 860L
1-32 236111 | 3~ 1 |39 -F4v=)
1-33 235750 | ARYRLI4Y 1 | 850L1/0 585
1-34 234549 | AV -bF1-7 1 | 660L
1-35 220533 | W3 UM 9348T 1
1-36 234761 | ¥ A9AVhN-H34T 1 |37 ~3974L
1-37 210413 | A% Thty 1
1-38 210313 | AN =Yr95hty" 1
1-39 092555 | 6 HYK Lk (+)SW 2 | M6X30
1-40 227510 | ¥Y7°Y—10 1




2. LBC323UT-DX I oV
DS —R, DIUE




RHEES | HaES B & & &% &
2-1 875077 | 1YYy 1 | AE320/184
2-2 261360 | Y)u4 1
2-3 261528 | I AHYb 1
2-4 261250 | 6 H97 Y%K ILF WSW 4 | M5X20
2-5 261938 | 4UYaL—47hs 1
2-6 275190 | B A4 1
2-7 269826 | TAIRY ()WSW 2 | M5X25WSW
2-8 276760 | ¥757tV7"Y 1
2-9 266402 | A%Y1 2 | M5X55
2-10 274480 | B AHYb 1
-11 278523 | M7hN-=TtU7) 1 |12 ~1572494
-12 278524 | k7Thi— 1
- 286300 | /74 1
- 261020 | AA—1# 1
- 261734 | 597 MY 1
2-1 266636 | 47090 —2 1
2-1 261384 | ATYYY 2
2-1 261385 | A4LY—Ib 1
2-1 261386 | #4NY—Ib 1 | ISCD12227
2-2 016732 | Ch™4hAT 1 | H32
2-21 265458 | A9Y)-Y 1
2-22 261612 | 6 h97FY%K Lk WSW 3 | M5X30
2-23 273263 | E'AbY 1
2-24 261390 | E'AMUY 2
2-25 261555 | E'ARIEY 1
2-26 261392 | =—FAATYLY 1
2-27 261393 | =497’ 2
2-28 261395 | 97099 % 78304 1
2-29 264503 | 479FT7tU77) 1 130317494
2-30 264504 | 459Fv1 2
2-31 263614 | EYNYIL LN % 1
2-32 264505 | Wb 2
2-33 261189 | E3%h'% 2 | 6X16.5XT1.2
2-34 261777 | 9I-7"79v% 2
2-35 281325 | 77Uhin— 1
2-36 269831 | FAI4Y (HWSW 4 | M5X20WSW
2-37 267391 | 527V 1 |38~ 46744
2-38 261356 | A—4 1
2-39 267400 | 419 Z93VAANTEYT) 1 | 40 ~ 46 74L
2-40 267401 | 34l 1
2-41 269418 | F1-7 1
2-42 267403 | 1—-MT7HEU7Y 1 | 43 ~ 45744
2-43 267404 | 31—V 1
2-44 261074 | 7°39°%vv7’ 1
2-45 261075 | 794 1




2. LBC323UT-DX I oV
DS —R, DIUE




RHE®EE | BAES B 5 5 R 1
2-46 261072 | ¥vv7° 1

2-47 261076 | norW¥— 1

2-48 261417 | ¥7% ' 29%+Yk 1 | M8

2-49 280381 | AN —# 2

2-50 261256 | 6 H97TY%H Lk WSW 2 | M4x25
2-51 264652 | AN=47°3Y 1 | cJsy

2-52 267492 | -} 2

2-53 275191 | #'AAvb 1

2-54 264588 | h5v7° 1

2-55 278581 | 387 1 | Yy v (%)
2-56 269705 | 38 1 | 5y 835 0%y




3.LBC323UT-DX I oY
JaAIILRA—A




RHEES | HaES B & 1 &% &
3-1 283483 | JAAWARI-4T 1T 1 [2~12744
3-2 283481 | A4—47+tV77) 1 | 3~1172494
3-3 283504 | -l 1

3-4 283505 | hA7'L—b 1

3-5 283506 | 4VNRT WY 1

3-6 261721 | ANATNAT YY" 1

3-7 267213 | YRS 1

3-8 283578 | A-7°7tU7Y) 1 [9~117494
3-9 283579 | A4—40-7° 1

3-10 261725 | A4—4)7 1

3-11 283511 | A=7°AMUN 1

3- 283575 | A4—47"-Y7tU7") 1

3- 280857 | 747747tV 77 1

3- 267290 | A4%Y1 3 | M5X20

3- 264999 | 7°L—b 1

3-16 283391 | 2411 3 | M4X20
3-17 278521 | Ya{LIAN L 1 | LBC323UT-DX




4.LBC323UT-DX T >V
FrILA, BEELY




RHES | BHRAES B & FR B % i
4-1 262906 | ¥Y7°L4934T 1 [2~19744
4-2 262985 | KVIERTA 1
4-3 262991 | N=VR'TFA 1
4-4 262992 | KVU7hN - 1
4-5 261874 | 7347 1
4-6 261873 | #4%77L4 1
4-7 262993 | H'AFYb 1
4-8 262994 | 4°4Y774 1
4-9 262995 | HATYE 1
4-10 262121 | ¥ IYh 1 | #41
4-11 261871 | Oy 1
4- 261876 | vy 1
4- 261658 | A4A')L 1
4- 261875 | A%Y1 2
4- 261659 | 7379 1
4-1 262996 | A%Y1 4
41 261657 | Ny 1
41 263994 | %Y1 1
4-1 261878 | FYh 1
4-2 261864 | H AHYh 1
4-21 266422 | 9)—-+T7t07") 1 |22~ 28744
4-22 263005 | N9V U 1
4-23 262998 | An'— 1
4-24 263006 | ILAVH 1
4-25 263000 | 7YyY 1
4-26 263001 | RY=7" 2
4-27 266423 | FA-InN L7 1
4-28 263003 | 7°L—} 1
4-29 269834 | TAIRY (H)WSW 2 | M5X60WSW
4-30 278570 | 4uHT7+€U77 1 |31~ 41794
4-31 284758 | 71-I)4YY 1
4-32 262726 | 4u9%¥V7)348T 1 337244
4-33 261105 | NIy 1
4-34 261696 | 7749347 1
4-35 265752 | #UVAINATTEUTY) 1 |36~ 41744
4-36 264031 | W47 9347 1 |37 ~3974L
4-37 261115 | 4'0AYb 1
4-38 261690 | #Y3AUNA7 1 | 160L
4-39 263038 | A—n70-N47 1
4-40 264653 | 7447 EY77) 1
4-41 261117 | 997’ 1
4-42 261118 | W'YN 2
4-43 261119 | NN 1
4-44 261117 | Y97’ 1
4-45 284586 | 38 1 | FI-9 9N -7y

-10-




5. LBC323UT-DX
ft & fm

-11-



RHEES | BRES =1 71 &%k fis e
5-1 221460 | K3 Ah'% 1
5-2 220534 | AYnhn'— 1
5-3 210418 | AVE'FYHAANT 1
5-4 022865 | AT FANT 1 | 8X10
5-5 219431 | 6 WK IANT 1 | ZAUnn 3
5-6 239664 | M)7UHMEYAM3 1 | LBC263/323UT-DX

-12-




& X

Q = ULRETR
BHEHRBEXRZEO

fLyR—- b 42— EE 0120-898-114
ZFIFRSRS: AM9:00~PN5:00(X. BH. 1A % <)

EIEREET Printed in japan 2017-03.J




